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Consider two electron and Gi = 62 (forget spin). Suppone electrons are

in Gaussian cave-packets about X-a and X--a
I
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· Build a properly normalized -f. Cuse X <*2 ,
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· Complete the probability densityy for the separation between the two
elections
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And for a<1 !

· Repeat for basons of spin O

· Discuss qualitatively the different behaviour I

· Pa(X,<2) = N(Ym(x) Pj(x2) - Yp(X)P(x) S N normalisation
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· Ps(X,<2) = N(Ym(x) Pj(x2) + Ym(X)P(x) S N normalisation
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· Pp(x) always vanish in x = 0

9S(x) does not vanish for x->0·

The function f(X) = * cosh(kx)
has extrema : os -x exp)-x /2) cosh (KX) theyp (-x& 2) 2cosh (kx) sinh(rt)

-Xcosh(kx)+2K2nk(kx) = 0 = tank(kx)=
which has solution x = 0 and two more if K is

sufficiently big
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